=) SSC C HS L 2022-23 ©

TZTMOCK TEST o =

TARGCET 50/50 *
(3TB! IR CHSL UIR) &“" -

(«)amm | 05:30 PM BY MANDEEP MAHENDRAS




SSC CHSL (10+2) 2022

@indukumarig8754 18 hours ago [@ajayjatav6899 15 hours ago
Hw A ans is the correct[% [ sirji Options (A) is the correct ans *+* e @kumarbablu3115 19 hours ago

f5 CF Reply @& 5 CH  Reply s A

—, o= 5 CR  Reply &
- '%‘ s rephf - I-é‘_—-"—_‘:,—' = FEFI|}|'

- |i2‘..‘.‘ﬁ;;| =« rephr

@krishnakantmallick397 19 hours ago @ @Ravi.1 19 hours ago S subseribers
H.w-A ) AVE m (@girrajsinghjadon3602 19 hours ago
'

5 CB Reply @& 51 GH Reply > A
v ':E:' + 1 reply - [?f_‘:r] * 1 reply 5 P Reply &
y _ - ':%:' = 1 reply
@surbhisinha7315 19 hours ago 4 subscribers {D @rajibsaha1428 19 hours ago 13 subscribers B
Homework question answer - option AARA HW) .
drk \ 'y @suruchijha393 19 hours ago
5 G Reply & 7% Hw answer option A
. rh GF  Reply @&
v '@_J’ * 1reply 5 CH  Reply &
: [@zikrayasmeend058 17 hours ago —
(@arpitsharma924 17 hours ago wj Option A - '-%,-' = 1 reply
Homework Answer is option AA [Iﬁ 9] Reply .
75 CJ Reply & {2; (@saumyatiwari7965 19 hours ago 1 subscribers
v 7=/ . 1 reply A home work ka ans A

v ':,?"-‘-‘a_’-:' * 1 reply
{@rituparnabiswas3987 19 hours ago [6' 9] Reply e
optio A * - 'ﬁ;:] s 1 renly

n (@ajayjatav6899 15 hours ago



SSC CHSL (10+2) 2022

® Four positions of the dice are shown then find out what will happen on the |
surface opposite to 'O'?
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® Square : 90° : : Equilateral triangle : ? (SSC-CGL 2017
* T : 90° : :Wgﬁ@w:?




® Esophagus : Iodine : : Anemia : ? [SSC-CGL 2017]
* JHT : IS : :Q:ﬁ'&PJT: ?

A.Vitamin D

D. Vitamin E




®* In a certain code language, APRICOT is written as GLXRIKZ. How will
ORANGE be written 1n that code language? [SSC - CHSL 2020]

* T f2rd %2 | H, APRICOT =1 GLXRIKZ for@n ST 21 36t e |rn 4
QRANGE = {oh# JehT ot smrm?




® In a certain code MARINE i1s written as IRMVEQ. How will BEAUTY be
written 1n that code language? [SSC - CHSL 2020]

: - 2
* fohell 3 WTST § MARINE sl IRMVEQ foT@T STel @ | 38T %< WISt § BEAUTY
shT T forT StTae 2







®* Find the odd one.
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® Out of 9 mangoes weighing 120 grams, the average weight of 9 mangoes 1s
increased by 20 grams by replacing one mango with another. What 1s the
weight of the replaced mango?

'@Tﬂﬁﬁéh I STt Ueh 37T o T 0 GO 3ATH o & § §7eh ST Wi
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T 20 UTH I Ifg a5 STt & Fect T 3T il HR AT 2
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A.180gm

\/B. 260gm
C.300gm

D.200gm




®* Find the next term.

® ITTAT IS T shifu|
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®* Find the next term.

® ITTAT IS T shifu|

® 133,119, 105, 91, ?

—l% —1¢ -1 —1F




*A,B,C,D,E, F and G are sitting 1n a circle facing the centre. D sits between A )
and G. F 1s second to the right of G and E 1s second to the right of F. C is not an
immediate neighbor of G.

* A, B, C,D,E, F 3R G %3 &l A Hg [ohd T T I § oS LA A HX G o 1
D 93T 21 G o &R 7% F g8 & 3N F o g1 E GO 81 G o UeheH Ugid § C & 8

®* Who is on the immediate left of E?

* Eoh ThaH T I & 2

C.CND
D. None of these




* Ashish starts walking towards east. He turns 135° left from the direction of his
walking and starts walking. Finally, starts walking by turning 45° to the right
from the direction of his walk. Tell in which direction 1s he going now?

® ST YL 3T ST ST T AT & | AU <A ] ﬁsrrﬁanq%dl g
I AT YT SHLAT @ | 3 H, 379 =i shl 1 & 2fe 45 SHR e T
AT & | ST foh 377 o2 forg feem ST 2 2 C- R

%Lﬂ
N — : N I3 q A. West
' L{g B. East
il Ve
c N\ '\ Oc. South

D. North




* Anjali starts walking facing east. In the course of walking she turns right twice,
then tell in which direction she 1s walking now. If it covers the same distance
each time?

* STl ST BT ST <G shileh =TT T Ll & | =i o 3hH H 918 gl S g1l S
&, dl ST oAl o7 37 fopg fmmm sht TR =1t Tt 2 | AT 78 el oI &HH g
HLAT T ?




* A + B = A 1s the brother of B.
* A - B= A is the wife of B.

* A x B = A 1s the father of B

* A +~ B = A 1s the sister of B.

® How is N relatedtoPin M - N - O + P?

*M=N-O+PHANFRTPHRTHIT R ?
0 0 6




® If 20 July 2021 was Tuesday, then what day of the week was 1t on 28
November 20217

* Fi 20 S[eATg 2021 °h , 2SS 2021 h! THTE T ohi< @7 T T2

———

B. Tuesday
C. Monday
D. Saturday




* If I stands for '+', J stands for 'x', K stands for '-' and L stands for '+', then in the )
following equation '?' What will come 1n place of ?

o i [T A '+ B, J T 37 'x' B, K 1 37 '-' ® 3T L oht 37 '+' 7, ot FFfeafa
HHIRTOT H '9' oh T YL AT SATTT 2

* 2L 18K (7J4)L(2113)J9L22="2




* Select the option that gives the correct order of the given words as they would
appear in the English dictionary.

* 39 forshed o T hifSTT ST fU 770 37t o G&t hH ohl S3TIdT & 519 Toh o 37U
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®* When a transparent paper 1s folded along the dotted line, choose the figure that

follows the pattern given in the question.

® STef Ueh & ShI7TST <Rl feigeT T & /it Siar @ di fol 7= ferehedt § 9 3¢ ot
Wﬁﬁqﬁﬁmﬁﬁﬁ@ TGl T STTELT FHLAT 272




®* How many triangles in the figure?

® TR | TR s &2

~ §SC CHSL (10+2) 2022

A.20
B. 24
C.28
D.32




